\U

C

it

2t
nji

Il

A

EX L BEMAXF20245FEERAERTEFYMRERER

FIRIENBBERXE



BEERKF2024FEERAECRRIYMRBRESR

IR =| #2 K #H = Hfiy| B 1 & 4] 1 =

1. BEXEM 1 =

RERBF AR

= EARGRIE

HEHIEHUAIE

R
2. FEFRELERE 1 =

RERRF AR
1) IRILF—TZV FERE 1 =
2) BE1ERE 1 =
3) EIERE 1 =
4) EAERE 1 =
5) BBERANERUSEESH 1 =
6) %1 5EX=E (AC/GC) 1 =
7) FELEREUA—BRE 1 =
8) KAMEERE 1 =
9) ETREXE 1 =

B &8 E ® X %

2/58" =Y




T 2 i = #H = Bfr i 4] ] =
10) %5 - FRREXE 1 =
1) BEFHMERE 1 =
12) FREEQB 1 =X
13) {AHEEGB 1 X
14) #08 EEmdt1R0B 1 =
15) EFMFAERERE 1 =
16) 1-25EEERE 1 =
17) B 2 —BR=E 1 =
B &8 E ® X %

3/58 =Y




T i #K H = B i i =
3. RFEHREZRSERE F2
B EREFEHER
- EEMREAE
K HUAIE
BRRR
ERE
1) FE2BRE =X
2) %5 EXE (AC/GC) F2
3) £7ERE Fa
4) E8BERE F2
5) FE9BRE =X
6) F10ERE =
7) £118&8=E =X
8) £128KE =
9) £13TF&K=E =X
10) %1 4 EXZE (AC/GC =
11) J7S 0B =
B &8 E 8 X #Z

4/5n =Y




T B 2 A B = B il # fié Z
12) FEHRAILE0B 1 =
13) RBRE¥+>5—0B 1 e
14) BEMEEERE 1 =
15) MAEESHRERE 1 %
16) TRAT#R AR EROB 1 =®
4. BRI VERERDHEER 1 =
5. DS# - RFEERM NEAER 1 =® 45K
6. #ERHEIETEEAER 1 =
7.  SABRREGERIER 1 =
pE 1 =
Gk 1 =
B & E ® X #F

5/58" =Y




